These tools are not
necessary, but may
help to assemble
certain parts of the
product.

Do NOT use any power
tools as this may
damage the frame.

(Not metal)

This product or some parts of this product will be heavy. Please use an assistant
when lifting.

o J
g F =\
()
Qb
Never drag or push the pieces across a hard or stone floor as this will cause
damage to the joints. Use a carpet or a rug for extra care.
o J
4 )

= F

“® .

If you have problems assembling or have damaged or missing pieces, please
contact us by visiting:

https://www.happybeds.co.uk/customer-service

J

Happy
Heds™

Arctic Wooden Low Sleeper
4 Drawer Storage Bed

1951

mm

Important to read before assembly:

Please check the contents of the box before attempting to assemble this product. The
instructions will have a checklist of parts and fittings.

Only adults should assemble this product.

Assemble the product as close to its intended final location/room as possible.

Do NOT use any power tools as this may damage the frame.

You may require an assistant when lifting, as this product or some parts of this product may be
heavy.

Please keep small parts out of reach of children.

The back page also details some more information on safety, care and maintenance.

www.happybeds.co.uk



KIDSAW




Laying

El embalaje

Confirmat screw 7 x 50
Confirmat Schraube 7 x 50
Vis confirmer 7 x 50
El tornillo de rosca gruesa 7 x 50
IL vito confirmato 7 x 50
Parafuso confirmat 7 x 50

0x E

Dowel 10 x 40
Holzdubel 10 x 40
Goujons 10 x 40
La clavija 10 x 40
La spina 10 x 40
Cavilha 10 x 40

24 x QP>

Screw M6 x 12
Gewindeschraube M6 x 12
Vis M6 x 12
La tuerca M6 x 12
ILvito M6 x 12
Parafuso M6 x 12

24 x Q

Protective cap
Abdeckkappe
Bouchon pour le confirmer
La tapa del tornillo de rosca gruesa
IL tappo di chiusura per il confirmato
Tampao para os parafusos confirmat

Ux  —

Nail
Nagel
Le clou
El clavo
Chiodo
Prego

@
008
@
@
@

32 x

Eccentric pin
Exzenterstift

Tige dexcentrique
El pasador excéntrico
La barra delleccentrico

Rosca soberba

Button handle
Griff Knopf
Poignée-bouton
La manija-botén
Manica-bottone
Puxador

Scharnier
Boucle
La bisagra
IL cardine
Dobradica

Screw 4 x 16

Holzschraube 4 x 16
Vissez 4 x 16

El tornillo 4 x 16
La vite 4 x 16

Parafuso 4 x 16

66 x ymmvnwe @mc:u—f—_—))m @ x5

Eccentric
Exzenter
Excentrique
El excéntrico
L'eccentrico
Tambor

@

Toe nail
FuBgleiter mit Nagel
Patins avec clou
El apoyo para el talén con el clavo
La ralla con il chiodo
O apoio para o calcanhar com o
prego

8 x

Screw 4 x 13
Holzschraube 4 x 13
Vissez 4 x 13
El tornillo 4 x 13
La vite 4 x 13
Parafuso 4 x 13

Drawer slides
Flihrung
Guides pour tiroirs
Guias para cajones
| dirigenti per i cassetti
Corredigas para gavetas

Number on the picture Number of parts in the product Verpackung Posa
Nummer in der Zeichnung Stiickzahl der Teile im Produkt Parts description Nombre de los elementos Pose Estilo
Nombre a la figure Nombre des détails du produit Bezeichnung La nominazione dei dettagli
Numero en el dibujo Cantidad.de el.ementos. del producto Names des piéces Designacgo das pegas
1L numero alla figura La quantita dei dettagli nel prodotto Box Lugar Box Lugar
Némero na figura Quantidade de pegas Karton ] Ilposto Karton ) Ilposto
Placer Espago Placer Espaco
Left bed’s back El cabecero izquierdo
1 Kopfteil Jugenbett links La spalliera del letto sinistra +
Téte du lit gauche Cabeceira de cama esquerda
Right bed’s back El cabecero derecho
1 Kopfteil Jugenbett rechts La spalliera del letto destra =+
Téte du lit droite Cabeceira de cama direita
Bed’s bottom El fondo de la cuna
2 Lattenrost IL fondo del letto +
Fond du lit Fundo da cama
Bed’s bottom El fondo de la cuna
1 Lattenrost Il fondo del letto +
Fond du lit Fundo da cama
Additional bar La barra
4 Auflageleiste La barretta +
Barre Barra
Additional bar La barra
2 Auflageleiste La barretta =+
Barre Barra
Left crossbar El estante transverso izquierdo
1 Quertrager links ILblocco di sostegno orizzontale sinistro +
Barre transversale avant gauche  Viga transversal esquerda
Right crossbar El estante transverso derecho
1 Quertrdger rechts ILblocco di sostegno orizzontale destro +
Barre transversale avant droite Viga transversal direita
Supporting bed’s side El soporte
2 Umbauseite Jugendbett Il longone dellappoggio +
Support latéral du tiroir Barra de apoio
Supporting bed’s side El soporte
1 Umbauseite Jugendbett Il longone dell'appoggio +
Support latéral du tiroir Barra de apoio
Bed side La barrera
4 Seitengitter La barriera +
Protection Barra de seguranga
Left door La puerta izquierda
1 Tiir links La porta sinistra +
Porte gauche Porta esquerda
Right door La puerta derecha
1 Tur rechts La porta destra +
Porte droite Porta direita
The left side wall of the drawer Pared lateral izquierda del cajon
4 Die linke Seitenwand der Schublade La parete sinistra a fianco del cassetto =+
Paroi latérale du tiroir gauche Parede lateral da gaveta esquerda
The right side wall of the drawer Pared lateral derecha del cajon
4 Die rechte Seitenwand der Schublade La parete destra a fianco del cassetto +
Paroi latérale du tiroir droit Parede lateral da gaveta direita
The rear wall of the drawer La pared trasera del cajon
4 Schubladenriickwand La parete posteriore del cassetto +
Paroi arriére du tiroir Parede traseira da gaveta
Drawer bottom El fondo del cajon
4 Schubladenboden Il fondo del cassetto +
Fond du tiroir Fundo da gaveta
Drawer front La fachada del cajon
4 Schubladenfront La facciata del cassetto =+
Fagade du tiroir Fachada da gaveta
Set of fittings Conjunto de los accesorios
1 Satz Beschldge IL completo della fornitura =+

Kit d'accessoires

Kit de ferragens







12 x Lokt



11

MVSaii

10



12

KIDSAW

13



14

KIDSAW

Please dispose of all packaging safely.

User Guide
Please take a little time to read the important safety notes detailed below. This will ensure many years of happy

and safe use.

The bed is intended for use by a child from the age of 18 months to 4 years old.
Please see the product page on our website www.happybeds.co.uk for the recommended mattress(es) with
this bed.

Safety
This bed has been tested by an independent laboratory and is in compliance with BS 8509:2008+A1:2011

= Keep this product away from fire and direct heat sources.

* Only use spares approved by Happy Beds.

= Always clear and empty the product before dismantling.

* Do not use this product if any part is broken, torn or missing.
* Do not use this product unless all fixings are secured.

= Always use on a level, even surface.

* Only adults should assemble this product.

Make sure the bed is not placed too close to other furniture, windows, blind cords, curtain pulls or other
strings and cords due to children bouncing, jumping and climbing the bed. Like all children’s beds, they present
a risk of injury from strangulation if used incorrectly. Never attach or hang anything on any part of the bed that
is not designed to be used with the bed, for example, but not limited to ropes, strings, cords, hooks, belts and
bags.

Children can become trapped between the bed and the wall and other peices of furniture (e.g. wardrobes). To
avoid risk of serious injury, we recommend you place the bed tight to a wall or have at least 250mm between
the wall and the bed.

General Care & Maintenance

* Wipe clean with a slightly damp cloth.

* Avoid the use of all household cleaners and abrasives.

= Periodically check all screw & fixings to ensure they are secure.

= When moving your product, carefully lift into place. Never drag or push the pieces across the floor as this will
cause damage to the joints and could result in failure to the product that will invalidate the warranty.

For more information on cleaning and product care visit:
https://www.happybeds.co.uk/help-and-advice

Notes

We've tried to make this product as easy to assemble as possible. In the unlikely event that you have problems
putting it together or have damaged or missing pieces, please contact us by visiting:
https://www.happybeds.co.uk/customer-service

Please keep these instructions for future reference. ©
neOO
www.happybeds.co.uk hﬂppYbeds



	CoverPage_Assembly
	Arctic Storage.pdf
	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8




